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Tic one end of the thread 10 (he rod and s olhet

o a lixed point (or simply prcss onc end of the rod

—
T L

::.E.""“:‘ hackward and lcave it).

Apply a burning match suck Lo the thread (o
nake the il vibraie In 2 horizontal planc. Ensurc thal the
amplitude 15 smiall and it does nol oscillate up and down,

When the image of the ncedle tip crosses the
-+ (o the right, start the slop waich and counl 2ero

Cross-wii
hen the image once again crosses the vertical

Count onc W _
cross-wirc 1o Lhe right. Find um¢ for 20 vibrations and repeat

1t thrice. Work out the ime period 7.
Make record of your abscrvations as shown and

apply the relation

10 find out the modulus of ngidity of the wire,

i kil i-."i_'i.,l_.'-.:l.l mh.

The experimental wire should be frec from kinks.

The rod should be arranged to vibrate cqually on both
des of the reference image of the needle Up.

The thickness of the experimental wire should be such
that il remains taut under the load of the necdle.
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Ans. The inherent properly of & matorial body @
regain s original condition allor (the delforming

lorces coast WO acl s called clasuciy

i . W hat s "‘l-:‘l""-"h.

The restoring force per unil aroa st up W \he
hody 1s called stress

ANS.

' W hat is stram?

Ans. The change produced per unil GIMORSION ol &
hidly 15 calied strain and s moasured by the
change per unit length (longitudinal sirain), por
anit volume (volume sirain) or Chsnge angle
(shearing sirain) according as the ¢hange h
lenglh, volume or shape of the body.

ol

.4, What do you undersi ynd by modulus

]

Fapietriy
Ans. llis defined as the ratio of angential sress W0
sheering slrain.

Q.3. What s Hooke's law?
Ans. 1l siaics that the sirain produced is dirocily
proportional to stress applied i.e. SIrOss/sUmn =

consiant.




